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International GCSE Mathematics
Formulae sheet — Foundation Tier

Area of trapezium = %(a + b)h
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/:l_\
< >

b

Volume of prism = area of cross section x length

Cross
section

length

Volume of cylinder = z+*h

Curved surface area of cylinder = 2zrh
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Answer ALL TWENTY FIVE questions.
Write your answers in the spaces provided.
You must write down all the stages in your working.

1 The table shows the average annual rainfall, in mm, for each of five countries.

Average annual
rainfall (mm)

Country
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(@) Write the number 2051 in words.

(b) Write the number 1668 correct to the nearest hundred.

S
0%
STRELRRKS
RatelatototetotoX

O
postatelotels
Saleteteteds

&%0&&%0
LI
Sotodetoletote!
(SRS

0%

oY%

<
KRRKAKAKH

The average annual rainfall for Colombia is more than the average annual rainfall
for Brazil.
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(c) How much more?
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The average annual rainfall for Nigeria was 283 mm more than the average annual
rainfall for France.

(d) Work out the average annual rainfall for Nigeria.

(Total for Question 1 is 4 marks)
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2 The pictogram shows information about the number of text messages Colin sent on each

of four days last week.

Monday

Tuesday

Wednesday

Thursday

Friday

represents 8 text messages

(a) How many text messages did Colin send on Tuesday?

(b) Work out the total number of text messages that Colin sent on the four days from
Monday to Thursday last week.

On Friday, Colin sent 26 text messages.

(c) Show this information on the pictogram.

1)

(Total for Question 2 is 4 marks)
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3 Here is a rectangle made from squares.
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(a) Shade 0.7 of the rectangle.

(1)
(b) Write down the value of the 2 in the number 3.289
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(c) Write 3 as a decimal.
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(d) Write these numbers in order of size.
Start with the smallest number.

2.803 2.008 2.081 2.83 2.8
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(Total for Question 3 is 5 marks)
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4 The diagram shows a 5-sided polygon.
A
g
(a) Measure the length of the side AB
Give the units of your answer.
(2)
(b) Measure the size of the angle marked x
1)
(c) On the diagram, mark with arrows (>>) a pair of parallel sides.
(1)
(d) Write down the mathematical name of a 5-sided polygon.
1)
(Total for Question 4 is 5 marks)
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5 Angelina buys
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3 packets of seeds at $2.45 each packet
2 bags of compost at $6.20 each bag
and 4 plant pots
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Each plant pot costs the same amount of money.
Angelina paid a total of $34.35 for the seeds, compost and plant pots.

Work out the cost of each plant pot.
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(Total for Question 5 is 4 marks)

<
K5
o0
S5
D0%s

<
95
55505
B
S
5

KELEILLLS
A R A 7
< DKNOT
XIRLLIK

f'

2K

293
SRS
SRS
SROKLIES
XL
SRR
SREKS
dototode
KRLLES
RS
SRKLKIS
SRLXES
SRR
SREKS
dototode
IRLLLES
SRKLIS
S0RRKES )
SHERRKS

7
acom R AR O Turn over »
P 6 91 95 A 0 7 2 4



4 )
6 Bohai works in a shop that sells mobile phones.
Last week he sold one mobile phone to each of 300 customers.
The incomplete two-way table shows some information about these mobile phones.
32GB 64 GB 128 GB Total
type A 75 83 195
type B 29
Total 127 300
(@) Complete the two-way table.
3)
Bohai selects at random one of these 300 customers.
(b) Write down the probability that this customer bought a type B, 64 GB mobile phone.
(1)
Bohai now selects at random one of the customers who bought a type A phone last week.
(c) Write down the probability that this customer bought a 128 GB mobile phone.
(2)
(Total for Question 6 is 6 marks)
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(b) Solve y—-7=12

1)

(c) Simplify ~ h+h+h+h+h
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(Total for Question 7 is 5 marks)

8 Mairi has a 2 metre length of string.
She cuts from the string as many lengths of 35 centimetres as possible.
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Work out the length of string that she has left.
Give your answer in centimetres.
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9 (a) Write 150 as a percentage.

There are 30 dogs staying in some boarding kennels.
12 of the dogs are brown.

(b) What fraction of the dogs in the boarding kennels are not brown?

Give your fraction in its simplest form.

(c) Show that g+

(2)

(Total for Question 9 is 5 marks)

10 Accircle has a diameter of 14cm.

Calculate the area of the circle.
Give your answer correct to 3 significant figures.
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Give your answer as a decimal.
Write down all the figures on your calculator display.
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(b) Write your answer to part (a) correct to 3 decimal places.
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(Total for Question 11 is 3 marks)

12 Alisa, Jena and Mikael each pick cucumbers.

Alisa picks C cucumbers.
Jena picks 5 fewer cucumbers than Alisa.
Mikael picks twice as many cucumbers as Alisa.

The total number of cucumbers picked by Alisa, Jena and Mikael is T
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Give your formula in its simplest form.
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The diagram shows a classroom wall in the shape of a trapezium.

25m 3.5m

6.5m

Dion wants to paint the classroom wall completely twice.
He knows that each tin of paint will cover 12 m?

He is going to have to buy all the paint he needs.

Work out the least number of tins of paint that Dion will need to buy.
Show your working clearly.

Diagram NOT
accurately drawn
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14 On the grid, draw the graph of y = 2x — 3 for values of x from -2 to 4
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(Total for Question 14 is 3 marks)
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(@) On the grid above, rotate shape X 90° clockwise about O
(2)

A

R, NN ow A<

>
O 1 2 3 4 5 6 7 8 9 10X

(b) Describe fully the single transformation that maps shape A onto shape B

(Total for Question 15 is 4 marks)
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17 Danil, Gabriel and Hadley share some money in the ratios 3:5:9 K
The difference between the amount of money that Gabriel receives and the amount of 55
money that Hadley receives is 196 euros. e

Work out the amount of money that Danil receives. g

%
::oto’o‘
<
}
o

v
'
[
v
SIS

KGRI A
R ISAN
CTRIL
LA
sravededs
e

J
o’

06
XL
Patee!
ETH
Lot

%
%
f‘
S
030

Ca
>4
IS

R
™1 %7
’ \J-
02019

NSt tete
e

QG ICIIIIIIIHHIIIIAIA

05
505K
X %
et
2!

ERLEIKLIKLAL
K RCIKIERIIKIE LI R IR IIRIK KK

R RAIR KKK RLR LK KKAR

o:e 0
%o TN
KIS
PNz 9%
SCPRR

18 The diagram shows triangle ABC

L Diagram NOT
accurately drawn

8.4cm 65°

Work out the length of the side AB
Give your answer correct to 3 significant figures.
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19 Sarah makes and sells mugs.
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One day she makes 150 mugs.
Her total cost for making these mugs is £1140

X
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Of these mugs
2
3 are small mugs

32% are medium mugs
and  the rest are large mugs

Here is Sarah’s price list for selling each mug.

MUGS
Small £8.50
Medium £11.20
Large £14.20
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Sarah sells all 150 mugs.

Work out her percentage profit.
Give your answer correct to the nearest whole number.
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2 (Total for Question 19 is 5 marks)
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20

Jenny has six cards.
Each card has a whole number written on it so that

the smallest number is 5

the largest number is 24

the median of the six numbers is 14
the mode of the six numbers is 8

Jenny arranges her cards so that the numbers are in order of size.

"“‘%%“‘ll' '|““““|I' ll““““ll' '|““““|I' :211

(@) For the remaining four cards, write on each dotted line a number that could be on
the card.

A basketball team plays 6 games.
After playing 5 games, the team has a mean score of 21 points per game.
After playing 6 games, the team has a mean score of 23 points per game.

(b) Work out the number of points the team scored in its 6th game.
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21 (a) Solve the inequality 5x—-7<2
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(b) (i) Factorise y>—2y-35
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(i) Hence, solve y>—2y-35=0
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22 #={4,5,6,7,8,9, 10, 11, 12, 13, 14, 15}
A B ={5, 10, 15}

B'={7,8,09,11, 12, 13, 14}

A/

{4,6,7,8, 14}

Complete the Venn diagram for this information.

&

(Total for Question 22 is 3 marks)

23 a=42x10™ b=3x10"

Work out the value of a x b
Give your answer in standard form.

(Total for Question 23 is 2 marks)
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24 The diagram shows isosceles triangle ABC

17.5cm

AB=AC=175cm BC =28 cm

Calculate the area of triangle ABC

Diagram NOT
accurately drawn

(Total for Question 24 is 4 marks)
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25 The straight line L has equation 2y + 7x = 10
(@) Find the gradient of L
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(b) Find the coordinates of the point where L crosses the y-axis.
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(Total for Question 25 is 3 marks)

TOTAL FOR PAPER IS 100 MARKS

X
095 %S
< X A
SSHELLS,
JoSosesates
25

SRR
(90950509
L J Sk

22
AR AR T o
P 6 91 9 5 A 0 2 2 2 4




<

R
RSB
000

N
Sosesesed
QKKK
KK

%%
<

LR

%
SERRRKR

X

%o
SeSetedss
SRR
S
2006
SR

3
RRSERE
%éﬁv&
58
¢
X5

ot
o
RS
ot
2K

<K
<X
5

5
KK
9%
o0
'
S
o

QAN

REELRES
3
1A

<
X

99 %
o
=y
250

O
batoesetets
ISR
&"&»
sl
RLRK

OO
opesetesete’s
T
S50
0ol

S
i’
"\
o%¢

4

R
So%ete!
<11
4
A
055
5

00
S
teteteteltete
KLk
SERLRESS
R

S
XXX

<
S
bose%s

X8
29
%%}

0
%
KR
55

55

SR
SRSES,
0000
KRS
QLK
SRR

<
S
"ﬁ%
0&4&?‘
%

Q0K
295%%
S

<
SRGERS

Ro5cs

A
RLRKKS

K
%
KKK

S
R
RXX5

0K

e
b

bt ?3
S
S
Boss o

IR LRRKLR,
SSELRRKESS

%
CRIIIEARIKIHRK

<
3&‘*»’?*
o0 J
2

5%

CERREHAR

KL ’o

%
X

S8
IR
X

2%
XS
o

AR
SR ARKLK

0>
RS
0%l
%!
SR
s
RRRIELRLLRRIERS

(X
5K
XY
0SS
%
<
K

000
53R
BB
SRS
5K
KRR
85

%
<

06
KKK
XX

5

5555
55

25
K
poseds

5
L R
S
%

05
RRELRLS
<5

<X

A
QUL LKLIES
S

XX
VT

300!
o
N

éﬁ%ﬁ’ %ﬂ%0§3

SRR HHKLS

s

o2}
o todeteds

KL
KKK

LKL
SRS
ZRLRRLRKLLS

LRKLHEK

OIS
oo

80908

S

!

050598

%
0%
o%
X2
0%
%
b

.

BLANK PAGE

EOE.

P 6 91 9 5 A 0 2 3 2 4




BLANK PAGE

J

24

P 6 91 9 5 A 0 2 4 2 4

ELEm

LSRR
KRS,
LRI,
SRR
G,

<

::‘Q‘}
Sorate

AL

Jo%es
<5
&
oo
%%
K

<3
%
&

o%
SRR
aV

e
o

%

0’0’0’0’0’0’0’0’0’0’0’0’0’0’0’0’0%’0’0’:.

5
o
%

KKK IRIHRK AR

!
oot ot tetetetotetetetedotetotet

0
boet
Q’
0
bose

%%

¢
5
20%%%
Qf
S5
'8

R
p>atel
..:»v«%’
KL
RISES

R
S
X %

X

095 %S
< X A
SSHELLS,
G052
25

SRR
(90950509
o



